=0 av ALK
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LEE| A |BEALER| BEALE | X| #E
0 |BEREH ¥ 15,000 |[xa—t—nos% O
1 KIE ¥ 10,000 |7t XO
2 |JIlA ¥ 4,000 |[E—Ltarwi | XO
3 |ARH ¥ 2400 |z/xs5ri XO
4 |th)I| ¥ 2000 [#s5 #& (@)
5} mE ¥ 10,000 |vosHi @)
6 = - ¥ 5,000 [HkTH# XO
7 |KE ¥ 5000 [sne— PN
9 |Ei=E ¥ 15,000 |vosHi @)
9 |BEEB) | ¥ 2500 [e55r# L
13 |FAH ¥ 10,000 [7—// XO
14 |E5ik ¥ 3,000 |z XO
15 |P9eh ¥ 15,000 |vosH O
16 |H3 ¥ 4,000 |xesoH 2X0O
17 |3k ¥ 6,700 [knosut XO
18 |/ ¥ 2,100 |[#55% L
18 [/MI(IB) | ¥ 3,000 |[757v# O
19 |(HZE ¥ 19,000 |[a—bratk @)
20 |;&ZH ¥ 8,000 [turH XO
21 |F=E ¥ 5000 [caTom XO
23 (iR ¥ 2800 |[7—beik XO
24 |5H ¥ 6,000 [v== A8
29 |DJ3tY ¥ 5,000 |zuvew L
30 |{Fik ¥ 5,000 |xozxtvwi—& | 2XO
31 ==l ¥ 2,000 [RoTxTH XO
33 |AAF ¥ 15,000 |vosHus @)
41 |0O ¥ 4100 |7y XO
48 |(YYpP—/ | ¥ 4700 |os¥camiE | 2XO
51 |EBH ¥ 5,000 [mvom 484
55 |3H ¥ 2400 (=% 2X0O
55 |FH ¥ 3,000 |uuicyi 5 A<Bf
66 |[LATX |¥ 10,000 [e—rv 2X0
72 |FH ¥ 4800 |[rrsr# (@)
74 B ¥ 8,200 [*vron 2X0O
76 |3 ¥ 9900 [—u—# L
77 |ARYAS X | ¥ 3,000 [757ro# 2XO0
80 |UA ¥ 9,000 7% 484
88 |HH ¥ 9800 [ =w 2X0O
89 (=Y ¥ 2,000 x&ES31# XO
99 (WA )L | ¥ 4,100 |==mak 2X0




